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Date: ______________ Period: _____
Trig Equations Practice Worksheet
Show all your work and reasoning.  Use a pencil and highlight your answers.
	1.  Determine all solutions for each equation, for 
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.  Draw a sketch for each equation.
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	2.  Convert from radians to degrees.
	3.  Convert from degrees to radians.

	a)  
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	a)  16°


	b)  600°

	4.  Find an angle that is coterminal to the given angle 
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	5.  Simplify each of the following rational expressions.  Assume the denominator is not equal to zero.

	a)  
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	6.  If 
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	7.  If 
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	8.  Given the point (3, –7) on the terminal side of 
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, complete the following:
	9. Syesha invests $800 in an account earning 5.6% interest compounded monthly.  When will she have $2000?

	(  Plot the point.

(  Show 
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 and 
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(  Draw the reference (.
	(  Label x, y, and r.  

(  Find 
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(  Approximate 
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 in degrees.  
	

	
	

	10.  Given 
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, determine the zeros.  Sketch a graph of 
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, and label all intercepts.
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